
 

          SylvanSport GO Tongue Extension Instructions 

 

1.10.2019  pg. 1 

 

The SylvanSport GO tongue extension is great for towing longer boats and canoes.  The extra 30 inches 

of tongue length provides plenty of bumper clearance when hauling a boat up to 18’ long. 

 

Items included in Tongue Extension Kit: 

Tongue Extension Tube (1) 7” Zip Tie (1) 

M12 Hex Nut (2) M10 Bolt (1) 

M12 Flat Washer (2) M10 Flat Washer (2) 

M12 x 100mm Button Head Bolt (2) M10 Hex Nut (1) 

Wire Harness Extension (1)  

  

 

 

 

 

 

 

 

 

 

 

 

Tools and other items required for installation: 

Electrical Tape 

8mm Hex Key 

19mm Socket Wrench (or standard wrench) 

17mm Socket Wrench (or standard wrench) 

Torque Wrench 

Dead Blow Hammer (not shown)  

 

 

 

 

 

 



 

          SylvanSport GO Tongue Extension Instructions 

 

1.10.2019  pg. 2 

 

 

  

Step 1: Remove Safety Cables from tongue using 6mm 

hex key.  Hex head bolt can be reinstalled in the 

holes rather than leaving the holes exposed if you 

prefer. 

 

Step 2: Remove Coupler using 8mm hex key and 19mm 

socket wrench. 

 

Step 3: Attach Wire Harness Extension to existing 

connector.  Secure using Zip-Tie. 

 

Step 4: Wrap cable with Flexible Conduit.  Secure with 

electrical tape. 

 



 

          SylvanSport GO Tongue Extension Instructions 

 

1.10.2019  pg. 3 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Step 5: Thread Wire Harness Through Tongue 

Extension. 

 

Step 6:  Slide Tongue Extension into existing tongue 

(larger holes facing upward).  Be sure the inside 

of the existing tongue is clean and smooth so the 

tongue extension will slide more easily. 

  

 

Step 7: Push the Tongue Extension in until the bolt holes 

on the bottom of the Tongue line up.  It may be 

necessary to place a wooden block at the end of 

the Tongue Extension and hammer it to get it 

fully into place. 

 



 

          SylvanSport GO Tongue Extension Instructions 

 

1.10.2019  pg. 4 

 

 

 

 

 

 

 

Step 8: Insert M12 bolts.  Flat washer and Hex Nut are 

installed from below.  Tighten to 40 ft-lb (54 

Nm). 

 

Step 9:  Reinstall coupler on tongue extension using 

removed M12 bolts, washers and hex nuts.  

Tighten to 20 ft-lb (27 Nm). 

 

Step 10: Reinstall Safety Cables onto the Tongue 

Extension using M10 bolt, 2 washers, and M10 

nut. 

 

Step 11: Completed assembly…  ready to GO! 

 


